
Mesure d’un Rectangle (F)

Calculez les mesures manquantes pour chaque rectangle.
?

?

P = 67,8 yd

A = 256,5 yd2

1.

?

?

P = 118,24 km

A = 858,112 km2

2.
?

?

P = 61,56 hm

A = 232,1865 hm2

3.

?

?

P = 12,8 mm

A = 9,03 mm2

4.

?

?

P = 132 nm

A = 989 nm2

5.

?

?

P = 78,4 dam

A = 380,16 dam2

6.
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Mesure d’un Rectangle (F) Réponses

Calculez les mesures manquantes pour chaque rectangle.
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22,5 yd

P = 67,8 yd

A = 256,5 yd2
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33,52 km

P = 118,24 km

A = 858,112 km2
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17,55 hm

P = 61,56 hm

A = 232,1865 hm2

3.
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4,3 mm

P = 12,8 mm

A = 9,03 mm2

4.
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43,0 nm

P = 132 nm

A = 989 nm2

5.
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21,6 dam

P = 78,4 dam

A = 380,16 dam2
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